%xPebux+5 = (JF)
840 el o
EE% 4
A4 A X-2e &
Ax = — - A i
XA by 5 Cxletapl) 1 ox Ax = ‘ 4r = dt

) Cr-2yt 41
1
f}_,,#dﬂbh =z arctﬂt+ C :-Mc,-i:a (x-2) +C

() = | oW
= iz Doty Gl o - oty

(-—‘E - occtg (L-2Y) = i B ‘mﬁtﬁ('w)(l: A% T‘E
hy~Fo N -

) |
- —~ — f'\j*=n..;c.tcax
+ e 1 + peo
1 1 { R B
@ [ ME-Ly+S d’t - 5 R"'-'-;Kfs O\K T J- A“
A

Moo Ax = L -F -1 aAr = D: 4-x">0
o X Bsg- o Yu-x' O = (-2,2)
3> 9-
FER SRR F
O 2
C-tafe] |
— \.)UVW -1 L2 =
(2~ }'2 e 0
= ' ~ {4 -l = 0+2-°=
WP"F[ (- i—?.] 0+2=2

I &
@ ; j:.;a;.c}u = m}_- étg'ﬂa\x = (W
o ~REE
y .2
X = ( =Avax o :
j‘ 3!0\.)1 j m,dx ~ - \/m|cosx\+ C \ f f{'-CZ:*: Axz Ll Leal+C
C*) \aaw E—M\Cmul]\&: W [-—-Ux.\ee; 4 Al -
P PR PAdteol | -

= {0 = - = e _

M= nx

J\\ﬂ\.ha\.x = = Xdmx -x+C :):.Lﬂ\m:(—~{)+c
< kg, Db B = e (0o
Lo + 1 i H -
— 4+ 0o o<
- ~ = - Lo / = too 4= W T o e
l G ( Dﬂ)i m"_}UJr = K +mz’ \;‘/:g-f _uit:’-
- lJ\NW i‘ . — =
NEYeL ('C{ ) %t/:bo"d i
a 3
&) ‘f 'f__ld)‘\ ::J@‘f_'kzd” 1 fﬁ
g @ iEEek
D =RN{2,-2) b3
T v e
8) ) mxdx = ) fmxdx + ) lnx dx =
; D, %
.
( iﬁl.giou =

cosD = 4 co5
AN



